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 Z

• X 1 ��23�54��7698:�5; :⇐⇒ KX ' OX < H i(X,OX) = 0 < 0 < i < d

• d = 1 = ��2�2+�'�>�
�+�?�);�
@���
• d = 2 =BADC �*;�
�#E�����
• d = 3 =F1 ��2G�54��7698:��;H�*	�
����.#I�J2+$

1

0 0

0 h1,1(X) 0

1 h2,1(X) h1,2(X) 1

0 h2,2(X) 0

0 0

1

b0(X) = 1

b1(X) = 0

b2(X) = h1,1(X)

b3(X) = 2(1 + h2,1(X))

b4(X) = h2,2(X) = h1,1(X)

b5(X) = 0

b6(X) = 1

χ(X) = 2(h1,1(X) − h2,1(X))

h2,1(X) ' (��LKM��#N���J�O��2+�QP"$&�.#I�J
��R�S�
�+�,(&�T��# X

h1,1(X) = rk(Pic(X))
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• #Xp := (��LKM��# � �9�'(��
� �J( X �0����
 Fp

•
� ��$L;�23��
�� �  ' #I�9
�� ����$"��
��'���)� p < #Xp

�'� $&������
 ���'(���$"4� 
������� ���+�)(��*� ��#%����
@�����'( � ��$L;�23��
:#I�J
��O�

• ` � ��$&�+� ���,	��,���J2+���, <	� 
��J4 �)(���;&� � �5� <
 ��2��9�'� 
��)��
��)�*�)(���� �����,(&� < L � �
��
��+�)�

• � �.# �
��	����
��->P&��$"� �9�'(�� #I�9
 � ;�2G�

#Xp =

2d
∑

i=0

(−1)i tr(Frob∗
p |H

i��� (X̄, Q`))

• � 2�2����>�
�+�?�);�
@���)� =
#Ep = 1 − ap + p

� �+2��)� ��� ��2EK = ap
��
�� �
	�� ������� ���+�)(��*� ��# ���:�����9	���� (���� # �J
 � #I�9


Γ0(N) < � ���
	 N = 1 �,(�$L;������J
 ��# E

• 1 ��2G��4�� 6 8:�5;H�
	�
����.#I�92�$L� =
#Xp = p3 + 1 + kp · (p

2 + p) − ap

1 �,(J�������
;�
�� = ap
#I�9
�� ����$ p $&������
 ���'(���$"4� ����$L;�23��
 # �J
 � �
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• X 
���� ��$ < � K �9K < h2,1(X) = 0 K�� 
������'�
� ���,(J�������
;�
�� =
ap

��
����*	�� �������������)(��
� �,#M� � ��� �J	���� (���� #I�J
�� # �J

Γ0(N) < � ���
	 N $&� �>�'�
�'4�2+� �,(�2  4� 4 ��$H��
���� �)�

• X (��,( 6�
���� ��$ < � K �9K < h2,1(X) > 0 K�� � �����G��2 �S�5�
�����!�*��2�� �����'( �
	�� =
ap = bp + p · (∗)

• 
 ���*	 �S���*�)� ��
�� �������)�*�*��4�2��D��� ���J�O�&;>����
:�
�S��
�� 	��)�

• 1 ����� ���+�)(��*� ��# � � $L;�2G��
:#I�J
��O� =�� �M1 A � 4� � K��������'(

� ��� 
�� �
� K����Q��
@� � � �*	��
�'( �9;�2G��
 1 ��2G��4�� 6 8:�5;H�
	�
����.#I�92�$ X $&�.-�(���$H������
 Z
� K����*;�$  /�*��( �J;�2G��
�� �
���)� ��# X < $&������
 ���'(���4 ��$"��
��'���)�
C K��:�)�*�92���� �*��( �J;�23��
�� �
�+�)� < �J4>�Q���'(��*� � ���*	H����$&��2 X̃ �,# X
�&K�� ���
��
 ���'(�� � ��$ �9��(�;&� 4 ��
 �
� K�� ���
��
 ���'(�� #X̃p

4� /���,;&(����'( ��� �J��(��*� � � �*	 � ���,� �&;>�
��

� K 1 �J�O� ��
�� ap

� ���
	 �������������)(��
� �,#N����$L;�2G��
 #I�9
 � �
� K�� 
������ ����$L;�2G��
����! �I#�K �EK�� ��
�
�� 6 � ��� (�� 6 � ��2 �
��( �J���
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• � ;���(��
�+�?�'( P4

• � (�����
 �
�����
���J( ��# � �:� �);&4����)� �'( P5

• � (�����
 �
�����
���J( ��# ����; ��
@����� ��(�$ ����; ��$&
��+�?�'( P5

• � (�����
 �
�����
���J( ��# � �);&4��+� �5(�$ � � ����; ��$&
����)�T��( P6

• � (�����
 �
�����
���J( ��#N#I�,;�
���; ��$&
����)� �'( P7

• 1 �,� ��2����
� ��(��
��
��*���������J(&� �'( �:�����9	��
��$H��
����������
� ��� ��� �����)�

• � �9
��+�?���,(&���

�;����
���J(&�

• � �'4�
�����
���$L;����
� �,#N��2�2+�'�>����� -�4�
�� �����,(&�

• � 
��'��2+� �*�QP �
��� = �

��'��2+�?��������
���( ���,# P3

4�
��5(���	���$ ��2��J( �O�
�QP �
�+� �*;�
�#E�����

• � �,;&4�2+� �����
�+� = $&�J;&4�2�� ���0����
���( � ��# P3

4�
��5(���	���$ ��2��J( � ��������� �*;�
�# �����

u2 = f8(x, y, z, t)

6 �����
�+� ��
�

��( �9�)���)(��*�
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����9�+$ �QP ���O��2+�)� � ���
	 �!����2+�����
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= 50

#�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�##�#�#�#�#�#

$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$$�$�$�$�$�$

%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%%�%�%�%�%�%�%�%

&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&&�&�&�&�&�&�&�&'�'�'�'�'
'�'�'�'�'(�(�(�(�((�(�(�(�(

�	��

�
h1,1

= 46

)�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�))�)�)�)�)�)�)�)

*�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�**�*�*�*�*�*�*�*

+�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�++�+�+�+�+�+�+�+

,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,,�,�,�,�,�,�,�,

�	��

�
h1,1

= 44

-�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�--�-�-�-�-�-

.�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�..�.�.�.�.�.


/�
��

�
h1,1

= 40

0�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�00�0�0�0�0�0�0�0�0�0�0�0

1�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�11�1�1�1�1�1�1�1�1�1�1�1

2	��

�
h1,1

= 40

3�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�33�3�3�3�3�3�3�3

4�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�44�4�4�4�4�4�4�4

5�56�6
�	��

�

h1,1
= 40

7�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�77�7�7�7�7�7

8�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�88�8�8�8�8�8

2	��
9�
h1,1

= 38



� 
�� ����� ����! � ��� � ! � � � ��� � ��������
 �

• $&�J;&4�2���� �J��(��
• C �  � �)� ��# �

�����2�� � �9�'(��
�

•
	 �  � �)� ��#N#I�,;�
 #I�J2+$H� �J�'(��*�

•
� � �! � �)� �,# -L���.# �J2�$�� �9�'(��
�

 ≥ 19258 �QP ���O��2+�)�



� 
�� ����� ����! � ��� � � ��������
 ����� ��� � ��� ��!

h2,1 = 2

h2,1 = 0

h2,1 = 3

h2,1 = 1



����� ��� ����� � � �0��
 � !

• �O��2G�5(��)� ��(�$ ����; ��$&
����)�

h2,1 = 1

• ����; ��$&
����)�

• A ;&� � ��
 �*;�
�# ����� ��(�$ � ��2G��(��)�

• �);&4��+� �5(�$ � ��23�5(��)�

• 1 2��)4&�
��	��);&4���� ��(�$ S5 � �  >�O�����

���� ��;��'(��
���)�

C1 = C3 · (aC2C3 − bC5) = 0

(a : b) = (5 : 12) = 
 ��
��*	�� � ��;��'(������ � ���
	 � � �);&���&� <
4 ��$H
���$L;����
�+�,( �S� � C

• S5 � �� � � ����
���� � ���
���)�
 

�QP �5� ��2��)��� ���
	�4 ��$H
���$L;����
�+�,( �S� � � < � C < � � �J
 C � K

• �&��
@�
��� � � �����*�)( 4 ��
 � � ��(�����
��3�5(�� �*;�
�# �����)�



� ��� ����
 � �5!

• 
 ��$"��
��'���)� �����);�
�
��'( � �'(�2+������2'� =
2, 3, 5, 7, 11, 13, 17, 19, 31, 37, 73

� � PL�'� ;&� � � � ��
�� = 	 #I�J
 p = 2 < � #I�9
 p = 3 < � ��2'�
�

• 1 �,(�$L;����
�9
 = � ������2 ��# ��( ��2�2+�'�>�
�+�?�);�
@��� E =
N =

∏

p �������	�
pfp

� 	���
��

fp =























0, � # E 	 �5� � ����$H
���$L;��������J(�� � $L;�2�� p,

1, � # E 	 �5� � (���$&��� � $L;�2�� p,

2, � # E 	 �5� � �);&���H����$L;�2�� p, ��(�$ p 6= 2, 3,

2 + δp,
� # E 	 �5� � �);&��� �S� p = 2 �J
 p = 3.

• �@
�;�2�� ��# �*	�;&� 4 	 # �J
 1 ��23�54�� 6 8:�5; �*	�
����.#I�J2+$L� =
p2 | N  (��J( 6��'�
�J23� ����$ �
�'( �9;�2G��
��������)� �0����
 Fp

p | N < p2 - N  ���*�92G� ����$��
�'( �9;�2G��
��������)� �0����
 Fp

p - N  �*�������
	 ������
 Fp



� �������5! � ������� � � ��!

T40
3

T70
1

T44

T40

T46

T50

T70

T36

T40
1

T32
1

T32
2

T40
2

T28

T32

T16

2:1

2:1

2:1

2:1

2:1

4:1

2:1

2:1

4:1

8:1

8:1

8:1

8:1

8:1

1 �9
�
��)��� �,(�$&�)(����)� #I�9
 2+������2 	 
����9�+$ 1 ��2G��4�� 698:��;H�
	�
����.#I�92�$L�



� � ������� ������� � � ��!

• � �'(�$H�QP ���O��2+�)� � ���
	 2G��
 �9�?4 ��$"��
���� �)�

• � �'(�$"���J
�� ���J
�
��)��� �J(�$&�)(����)�

• 1 �,� ��2����
������$L;�23��
�� �  H��
�� ��# # �J
 
���� ��$ 1 ��23�54�� 6 8:�5;��*	�
����.# �J2�$L�

• ���
;�$  (��,( 6 
���� ��$ 1 ��23�54��7698:�5;��*	�
����.#I�J2+$L�

• � K �&K < ��23�5�*�*�'#3 /�*	�� �S�5�
�)��� ���
	 h2,1 = 1

• �%
��0��� ����$L;�2G��
�� �  /#I�J
T��2+2 1 ��2G��4�� 6 8:�5; �*	�
����.# �J2�$L�

• � �&��2+���S�S�
���J(H��� ����
�
��J
 �� �O�����

� H�5(�$"�&	� >�*�+�)�

•
� �0��� �,(/��� �
	���(��QP � $&��� �)(&�
���J(


